HTO= =\ WTO==N\>To==N\ TIo=—NYHEEH

KT RFHMY

| #EROHS

BASE ELEMENTS 7110F /7110FA/7110FB/7110FT

JREEEIT7110F,“7110FA “7110FB,7110FT

ErON” AMFD

PAT.P No.E-9700F

S45C R % BHIE
WA
FRAERL
TS s LeSoeli g ) BEEkg
904455 7110F-12-3 M12 30 0.32
904456 7110F-16-3 M16 40 0.65
T ges
iTRS RS B2 THAE BE Hitkg
904459 7110FA-12-3 M12 30 0.45
904460 7110FA-16-3 M16 40 0.95
R (124 7LA)
iTHES BE RO (FRZF) =l Eigkg
910986 7110FB-12-1 M12X%1.75 8 0.09
910987 7110FB-16-1 M16X2 12 0.19
RER (TRHEM)
iTRS e BEEE () aE EEkg
910988 7110FT-12-1 M12X1.75 12 0.14
910989 7110FT-16-1 M16X2 15 0.26
mMERST
iR o Tz oF RER (227l RER (TAUER)
A AN © 1T N
% QD - %7 EO3t 14 &SPl 9 4 tE&F- Dt -
J
J LK - ? Dle |F e le
C
C
= E
s Ny : B2
4 Q= IH R A L I I
d . / [ Z J_ i |__!_!_| <
L .
C / T /L -
J [
HRAERL
me A B c D E F G (83F) H [ J K L
7110F-12-3 30 25 65 30 19 12.5 : M12X1.75 18 10 125 20 40
7110F-16-3 40 30 80 40 25 17 M16X2 25 15 16 ) 50
T 5eR
e A B C D E F G @#F)  Hoo | J K L M N
7110FA-12-3 30 25 88 i 30 2351 125 M12X1.75 ¢ 25 35 20 40 19 18 10
7110FA-16-3 40 ¢ 30 : 110: 40 28 17 : M16X2 30 49 25 50 25 25 5
RZE (12ie7LA)
me A B c D E F G H I (483
7110FB-12-1 8 25 65 12.5 21.6 18.8 16 27 M12X1.75
7110FB-16-1 12 30 78 14 25.6 24.8 22 33 M16X2
RBE (TRUER)
EES A B c D E F G H [ ) (@)
7110FT-12-1 12 30 65 25 12.5 18.8 21.6 16 23 M12X1.75
7110FT-16-1 15 40 80 30 @ 16 24.8 25.6 22 30  M16X2

http://www.nabeya.co.jp




